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H25

1 348 t HI5 (349 t HI6 (312 t(H2)
2 1,030g HI5 |1,03lg HI6 |937g/ (H22)
3 17.3% HI5 17.2% HI6 |28 (H2)

2,000 t 1,921 t
4 HIS e 2,302 t(H2)
5 993 t HI5 (936 t HI6 (921 t(H22)
6 247 t HI5 (226 t HI6 161 t(H22)
7 3, BOha(HL5) |3, 650ha HL7) |3, 650ha
8 77 227ha(HI5) |77, 746h @HL7) |77,662h GHLS)
9 216 HI6)  [197 (HLY) 250 HL8 HL7
10 462 HIE)  |462 (HL7) 462
11 60 (HL5) 87 (HL7) 360
12 3,38 H4 3,5 2 Hi6 |3, 653
13 5 (ML) 10 (H7 |15
14 33.3 HI5 [83.3 (HL7) |100%
15 67 HI5 |70 HI7 |90
2
16 2 2 (H7) |2
(H %)
2
17 2 2 (H7) |2
HL5)
11
18 11 11 |10 (H7) |12
(HL5)
1
19 11 1 (H7) |12
(H %)
1%
20 11 0 (HL7)
0 (HL5)
68, 242
21 49,940 (HIB) |>p ¢
22 12.3 (HI5) |13.1 (H7) |16%




H25

2 18 10
23 ws) 15 (D2 7
5 3
2 (+15) 2 (W7 |5
25 63.9 (HI5) |6 76%H7)  |82% K22
26 (HL5) (HL7)
0,
27 \73.6 (His) |7 TR
28 381 HS5 (428 H7 |78
29 638 (H5) |68 (H7) |68
30 1.7 (HI5) |16 (H6)  |2.0 ws o
31 641 (HI5) |73 (H7)  |1,000
HI5
o 7,424 t- 7,78 t- 6,189 t-
a@(H2) C @(His5) a2(He2)
H8
(HL3 656 t- 62 t- )
33 2 |QCR(HI4) C @(HL6) 864 t-A2(H2)
» 18,547 | 22,309 / 19,000 /
HL5) HL7) HL8)
10,000 / 18,242 |
35 19 e 20,000 /
36 23 (H4) 25 (HL7) 46
37 40 (H6 44 (H7) 40
38 11 (HS) 14 (H7) 15
39 24 H5) |32 H7) |24
10
40 0 M6 37 H7) |40 R
a 370,647 (H4) |5 B,269 (HL7) |400, 000
a2 16 (M5 |46 (H7 |50
43 106 (H5) |18 (H7) |40
44 18 H5 |18 H7 |50




H25

46,266 |
45 P 45,397/ (HL7) |50, 000
13,671 13,076 |
46 ' : 19,000 /
(HLS) (HL7)
2,442 2,258
47 679 689 5’6800
(HL5 (HL7)
( 5,682 /
48 ) 1P 12,000 /
49 27 (H16 |26 (H7 |27
50 130 H16) 120 H17) 130
o 29, 000 54,000 / 30,000 /
HLS (HL7) HL8
52 439 HL5) 429 H16)
53 41 (HL5) 0  H7 50 H8
o 8,000 6, 100na(rL7 |17 000ha
5
55 2,080 HS5 6,513 (H7) |4,000
56 2 HS5 31 (H7) 100
(o]
2
9
N




